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QUESTION 1

What are the two valid characteristics of vRealize Automation Cloud? (Choose two.)
A. Supports on-premises vSphere and vRealize Orchestrator

B. Requires a standard license

C. Requires a load balancer

D. Supports on-premises vRealize Operations Manager

E. Has a frequent release cycle

Correct Answer: CD

QUESTION 2

An architect is designing the deployment of vRealize Log Insight (vRLI) in their data center. The customer has the
following requirements:

VRLI cluster responds to multiple Virtual IP Addresses (VIPs) Each event message received from a VIP is associated
with a tag

Which two design decisions would the architect make to achieve the requirements? (Choose two.)
A. Configure a CSV file to use with VIP tags.

B. Configure a list of static tags (key=value) for an integrated load balancer VIP, so that each event message received
from a VIP is annotated with a tag.

C. Each node should have at least one network interface on the same subnet as that of a VIP.

D. Configure a list of dynamic tags (key=value) for an integrated load balancer VIP, so that each event message
received from a VIP is annotated with a tag.

E. Each node should have at least one network interface on a different subnet as that of a VIP.

Correct Answer: BC

QUESTION 3

What two statements are true about vRealize Operations Manager high availability (HA)? (Choose two.)
A. With HA, data stored in the primary node is partially backed up on the replica node.

B. Upon failure of the primary node, failover to the replica is automatic.

C. If the primary node fails, the replica node can take over all functions of the primary node.

D. To enable HA, you must deploy at least 3 data nodes, plus the primary node.
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E. Data collection must be restarted from the administrative interface when the primary node fails.

Correct Answer: BE

QUESTION 4

A cloud architect is writing an implementation plan for deployment of a clustered vRealize Automation deployment that
will use a third-party load balancer.

Which two steps should the architect include within the implementation plan to ensure a successful deployment of
vRealize Automation? (Choose two.)

A. Disable all secondary nodes from the load balancer pools

B. Create and configure the monitoring of vRealize Automation and vRealize Orchestrator
C. Ensure all the SAN certificates for vRealize Suite are available

D. Enable all non-primary nodes on the load balancer

E. Turn off the health monitors or change them temporarily to default to ICMP and ensure traffic is still forwarding to the
primary node

Correct Answer: BC

QUESTION 5

An organization wants to provide automated self-service laaS catalog to all departments within the organization. The
key stakeholders have asked for the platform to be resilient to component failures and each department consume the
same on-premises infrastructure but can only see and manage machines which belong to their department.

Choose one design decision that will meet the business requirements.

A. Deploy single node deployment and use tenants to separate the departments.

B. Deploy single node deployment and use projects to separate the departments.

C. Deploy multi-node deployment and use projects to separate the departments.

D. Deploy multi-node deployment and use tenants to separate the departments.

Correct Answer: D
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